Notation Scientifique (F)

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

7900 = 2,077 x 10* =
3860 = 8,164 x 1073 =
700000000 = 9,96 x 108 =
0,00006809 = 0,00008229 =
4,42 x 10° = 4,04 x 1073 =
63700000 = 4,652 x 107 =
45x 10> = 5,8 x 103 =
2,3 x107 = 5,69 x 103 =
20990000 = 7,173 x 10 =
4,3 x 10* = 0,000742 =
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Notation Scientifique (F) Solutions

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

7900

3 860

700 000 000

0,00006809

4,42 x 10°

63 700 000

4,5 % 107°

2,3 x107

20990 000

4,3 x 10*

7,9 x 103

3,86 x 10°

7 x 108

6,809 x 107>

442 000

6,37 x 107

0,000045

23 000 000

2,099 x 107

43 000

2,077 x 10*

8,164 x 1073

9,96 x 10°

0,00008229

4,04 x 1073

4,652 x 107°

58 % 103

5,69 x 103

7,173 x 10°

0,000742

20770

0,008164

996 000 000

8,229 x 107>

0,00404

0,000004652

5800

5690

7173 000

7,42 x 107*
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